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1. All Questions are compulsory.
2. Numbers on the right indicate full marks.

Q.1.

Section A
Select and write the correct answer.
1. L . 5 AW
The term not containing x in expansion of (1 —x)“ { x + — |is
X
11 10
A) " Cg B) "5
10 10
Q¢ D) "¢
2 The coefficient of x8y1 Oin the expansion of (x + y)1 8is
18 18
A) ~C8 B) "P1o
0218 D) none of these

Q.2. Answer the following.

Q.3
Q4

Q.5
Q.6
Q.7

Q.8

1.

State by writing first four terms, the expansion of the following, where |z|<1
(1+x%
State by writing first four terms, the expansion of the following, where |z|<1
(1+x7

ShowthatCO+C2+C4+c6+(;8=c1 +Cy+Cc+C, =128

Section B
Attempt any Four

Simplify first three terms in the expansion of the following (1 + 3X)%1

State by writing first four terms, the expansion of the following, where |b| < |a]|.

(a D)
Use binomial theorem to evaluate the following upto four places of decimals. (1 .02)_5

Use binomial theorem to evaluate the following upto four places of decimals. (0.98)_3

State by writing first four terms, the expansion of the following, where |b| < |a].
(a+b)™

12
Find the middle term (s) in the expansion of (E + X)
y X

(4)

(3)

(2)
(2)

(2)
(2)
(2)

(2)




Section C
Attempt any Two

Q.9  Using binomial theorem, find the value of /995 upto four places of decimals. (3)
.10 6 6 3
Q Prove that (\/ﬁ 4+ \/5) + (\/5 — \/5) — 970 (3)
Q11 Prove by method of induction, Iogaxn =n Iogax, x>0,nEN (3)
Section D
Attempt any One
Q12 In the expansion of (k + x)8, the coefficient ofx5 is 10 times the coefficient ofx6. Find the value “4)

of k.
Q.13 Prove by method of induction, for alln €N (4)

)
345 456 567 T m+2)(n+3)(n+ 4 6mn +3)(n + 4

1 2 3 n B nn + 1
(



